Graphing the Cosine Function
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Find the start/end points.
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Find the start/end points.
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Mixed Practice

1.y=2+COS(2x?-_+H) N=Lrcos 2 (xe TN
Amipliude = —L Period = b-"?_. 7_:’;“ = TY Phase shift = IQQ:\: T\_I'L Vertical Shift =%
7z

Find the start/end points.
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2. y:-;-sin(2x+3n') \,:’.‘isv’\i(*"'?}_‘-)
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Amplitude = Z Period= 2T = [ Phase shit=_| &t 5—2 Vertical Shift = (10N
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Find the start/end points.
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3.y=—sin(2x—§) Y= -sin (% 'Zf.)

Z "
Amplitude = Period = Phase shift= __ ——

Vertical Shift =

Find the start/end points.
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Write the sine or cosine function given the transformation“s".

4. Write an equation for a cosine curve with a period of 41 and an amplltude of 3 that has been phase shifted

right by - I and vertically displaced upwards by 2. Penod ZJT Ar'n" b

I
\/3=3Cosz_(x-17_r_>"'l | Z
5 =b
5 Wnte an equation for a sine curve with a period of T and an amplltude of 2 that has been hase shifted left
by X vertically displaced downwards by 1, and reflected over the x axis.

Y= 2sin 2(x+ 5 %;w
1 VoW
2=b
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